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Seat No.:   Enrolment No.   

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING (NEW)– SEMESTER –3 (NEW)  EXAMINATION – WINTER-2020 

 

Subject Code:3330206                                                             Date: 19-02-2021 

Subject Name:Automobile Component Design  

Time: 10:30 AM TO 12:30 PM                                                Total Marks: 56 
Instructions: 

1. Attempt any FOUR Questions from Q.1 to Q.5. 

2. Make Suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. Use of programmable & Communication aids are strictly prohibited. 

5. Use of only simple calculator is permitted in Mathematics. 

6. English version is authentic. 

Q.1  Answer any seven out of ten. દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. 14 

 1. Define heat dam.  

 ૧. હીટ ડેમ સમજાવો.   

 2. Define factor of safety.  

 ૨. ફેકટર ઓફ સેફટી સમજાવો.   

 3. What is stress concentration?  

 ૩. સ્ટ્રેસ કોન્ સન્ રેશન  ટુેં   ાં?   

 4. Write down function of connecting rod.   

 ૪. કનેક્ ટીંગ રો રોડ  ાં ક  લખ ું ો.   

 5. What is unit?   

 ૫. ય નનટ  ટુેં   ?   

 6. Write down the types of crankshaft and list the nomenclature of crankshaft.  

 ૬. ક્રેંકશ ફ્ટન ાં પ્રક ર ું ો અને ક્રેંકશ ફ્ટન ાં જ દ ાં જ દ ાં ભ ગ રોોન ાં ન મ ું ો.   

 7. Write down function of flywheel  

 ૭. ફ્ ું  નહ હું ક  લખ ું ો  

 8. Write down forces acting on the connecting rod.  

 ૮. કનેક્ ટીંગ રો રોડ પર ું ગ રોત  બળો જણ વો.    

 9. Write down hook’s law.  

 ૯. હકૂ નો નન મ ું ો.   

 10. Write down function of propeller shaft.  

 ૧૦. પ્રોપેુંર શ ફ્ ટ ક  લખ ું ો.  

    
Q.2 (a) Write down function of piston.  03 

પ્રશ્ન. ર (અ) નપસ્ટ્ ટન   ાં ક  લખ ું ો.  ૦૩ 

  OR  

 (a) Write down design criteria for piston.  03 

 (અ) નપસ્ટ્ ટન િડા ઇન મ ટે ન ાં ક્ર ઇટેરી   ું ો.  ૦૩ 

 (b) Why connecting rod usually made from I-section?  03 

 (બ) કનેક્ ટીંગ રો રોડ I-સેક્ શન કેમ બન વ   ેે?  ૦૩ 

  OR  

 (b) Explain various stresses on connecting rod? 03 
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 (બ) કનેક્ ટીંગ રો રોડ પર ું ગ રોત  પ્રનતબળ સમજાવો.  ૦૩ 

 (c) List out various forces and stresses acting on connecting rod. 04 

 (ક) કનેક્ટીંગ રો રોડ પર ું ગ રોત  નવનવધ બળો અને સ્ટ્ રેસ ની   દી બન વો.  ૦૪ 

  OR  

 (c) Draw neat diagrams of side crank shaft and center crank shaft. 04 

 (ક) સ ઇડ ક્રેંકશ ફ્ ટ અને સેન્ ટર ક્રેંકશ ફ્ ટની આ તૃનત દોરો.  ૦૪ 

 (d) Write down design procedure for connecting rod cross section made of I-

section. 
04 

 (ડ) કનેક્ ટીંગ રો રોડન  I-Section ની ડીા ઇનની રીત જણ વો.  ૦૪ 

  OR  

 (d) Write down materials, types and design consideration for valves used in 

engine. 
04 

 (ડ)  ન્ ીનન ાં વ વ વ ની ધ ઓ  ઓ, પ્રક રો તથ  ડીા ઇન મ ટે ધ્  નમ ાં ુેંવ ની 
બ બતો જણ વો.  

૦૪ 

    
Q.3 (a) Explain the design consideration for valve. 03 

પ્રશ્ન. 3 (અ) વ વ વ ડીા ઇન મ ટે ુંક્ષમ ાં ુેંવ ની બ બતો જણ વો.  ૦૩ 

  OR  

 (a) Write down design consideration for crankshaft. 03 

 (અ) ક્રેંકશ ફ્ટ ડીા ઇન મ ટે ુંક્ષમ ાં ુેંવ ની બ બતો જણ વો. ૦૩ 

 (b) Explain bearing pressure and stresses on crank shaft. 03 

 (બ) ક્રેંકશ ફ્ટ ઉપર ું ગ રોત  સ્ટ્રેસીસ અને બેરીંગ રો પ્રેશર નવશે સમજાવો.  ૦૩ 

  OR  

 (b) Define live axle and dead axle. 03 

 (બ) ું ઇવ અને ડેડ  ક્ સેું નવશે સમજાવો.  ૦૩ 

 (c) Design for piston head thickness and dimension of piston pin for given data. 

Bore diameter = 10 cm 

Stroke = 15 cm 

Maximum explosion pressure = 40 kg/cm2 

Permissible stress for piston = 300 kg/cm2 

Permissible bearing pressure for pin = 70 kg/cm2 

Permissible bearing stress in pin = 420 kg/cm2 
 

04 

 (ક) નીચેની મ હીતી આધ રે નપસ્ટ્ટન હડેની જાડ ઇ અને નપસ્ટ્ટન પીનન ાં મ પ શોધો.  
નપસ્ટ્ટન હ  સ  = 10 cm 

સ્ટ્રોક ુંાંબ ઇ  = 15 cm 

સીલુંન્ ડર  ાં વુ મ ાં વુ  દબ ણ  = 40 kg/cm2 

નપસ્ટ્ટન નો પરનમનસબું સ્ટ્રેસ  = 300 kg/cm2 

નપસ્ટ્ટન નપન   ાં બેિરિંગ રો પે્રસર  = 70 kg/cm2 

નપસ્ટ્ટન નપન નો પરનમનસબું સ્ટ્રેસ   = 420 kg/cm2 
 

૦૪ 

  OR  

 (c) Design for the cast iron flywheel which is rotate at the speed of 180 rpm with 

energy storage capacity is 60,000 kg.m. Radius of gyration is 120cm.  If 

width of the rim is 35cm and 90% energy is store in rim then find the weight 

and thickness of the rim. Density of flywheel material is 7.25× 10-3 kg/cm3 

04 
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 (ક) 180 rpm ની ાડપે 60,000 kg.m શક્ક્તનો સાંગ્રહ કરત  ક સ્ટ્ટ આ નલખ 
ફ્ું  હહીુંની ડીા ઇન કરો. ગ રો  રેશનની નિજ્   120 cm ેે. જો િરમની 
પહોળ ઇ 35 cm હો  તથ  90% શક્ક્તનો સાંગ્રહ િરમમ ાં થતો હો  તો િરમ   
વજન અને જાડ ઇ શોધો. ફ્ું  હહીું મટીિર ુંની ડેન્ સીટી 2.25× 10-3 

kg/cm3 

૦૪ 

 (d) A single plate clutch both side effective is to transmit 220 KW at 3600 rpm. The 

ratio of outer diameter to inner diameter is 1.4, coefficient of friction as 0.32 And 

Maximum Intensity of pressure is 0.18 N/mm2. Assuming UWC Find diameter 

of surfaces and axial thrust.  

04 

 (ડ) બને્ન બ જ   અસરક રક  ક ક્ુંચ 3600 rpm ની ગ રોનતથી 220 kw   ાં વહન 
કરે ેે. તેન ાં બ હ્ય અને અંદરન  હ  સનો ગ ણોતર 1:4 ેે. ઘર્લખણ ાંક 0.32 તથ  
દબ ણની તીવ્રત  0.18 n/mm2 ેે. UWC ધ રીને તેન  બ હ્ય અન ેઅંદરન  
હ  સ તથ   લક્ષઅું થ્રસ્ટ્ટ શોધો.  

૦૪ 

  OR  

 (d) List out requirement of a clutch. 04 

 (ડ) ક્ ુંચ ની જ  ુરી  ત જણ વો. ૦૪ 

    
Q.4 (a) List out functions of clutch. 03 

પ્રશ્ન. ૪ (અ) ક્ ુંચ ન ાં ક  યો  જણ વો.  ૦૩ 

  OR  

 (a) List out requirements of clutch. 03 

 (અ) ક્ ુંચ ની જૂરિર  તો જણ વો.  ૦૩ 

 (b) Define: (1) Modulus, (2) Gear ratio, (3) Addendum, (4) Face width 04 

 (બ) હ  ખ્   આપો: (૧) મોડ્ ય ુંસ, (૨) ગ રોી ર રેનશ ો, (૩)  ડેન્ ડમ, (૪) ફેસ 
વીડથ  

૦૪ 

  OR  

 (b) Explain working of sliding mesh gearbox with diagram. 04 

 (બ) સ્ટ્ું ઇડીંગ રો મેશ ગ રોી રબોક્ષ   ાં ક  લખ જણ વો.  ૦૪ 

 (c) In a gear box clutch shaft pinion has 18 teeth and the low gear main shaft 

Pinion has 40 teeth. The pinions which gear with there on the lay shaft have 

44 and 22 teeth respectively. The gear axle ratio is 5:1 and over all diameter 

of rear type is 915 mm. if the engine running at 3000 rpm what is speed of 

Vehicle in Km/hr to low gear.  

07 

 (ક) લગ રોઅર બોક્સમ ાં ક્ુંચ શ ફ્ટ નપનન ન પર 18 દ ાંત  અન ેુંો લગ રોઅર મઇેન 
શ ફ્ટ ઉપર 40 દ ાંત  ેે. નપનન ન કે જે તેની સ થે ુેં શ ફ્ટથી લગ રોઅર થ ેું 
ેે. તેની ઉપર અ  ક્રમે 44 અને 22 દ ાંત  ેે. િરઅર  ક્સું રેનશ ો 5:1 અને 
પ ેું  ટ  રનો  કાંદર હ  સ 915 મીમી ેે. જો એંજજન 3000 RPM થી 
ચ ુંઓ  ાં હો  તો વ હનની ુંો લગ રોઅર મ ાં ાડપ km/hr મ ાં શોધો.     

૦૭ 

    
Q.5 (a) Write basic design consideration for I C Engine. 04 

પ્રશ્ન. ૫ (અ) I.C.  નન્ જન મ ટેનો ડીા ઇન કનન્ સડરેશન ું ો.   ૦૪ 

 (b) Explain maximum fluctuation of energy in flywheel. 04 
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 (બ) ફ્ ું  નહ હું મ ાં  નજી મ ાં થતી મહત્તમ વધઘટ સમજાવો.    ૦૪ 

 (c) Explain torque tube type propeller shaft.   03 

 (ક) ટોકલખ ટય બ પ્રક ર નો પ્રોપેુંર શ ફ્ ટ સમજાવો.  ૦૩ 

 (d) Define: (1) Force, (2) Torque, (3) Work 03 

 (ડ) હ  ખ્   આપો: (૧) બળ, (૨) બળુણૂલખ, (3) ક  લખ  ૦૩ 

 

************ 


